PP B

AR B AIRAF

verilog [RIREZIELS] 3 BFR

—

E M: www. mdy—edu. com

7% =: mdy—edu. taobao. com
Q0 #f: 97925396

Q0 &if]: 158063679



P BB

—. quartus 7 4R

zhong.v

Quartus BT i HILLA N5 i1R, BlGE—RERE S IFIE T — F W RE — A — Mk,

1.

10.

11.

12.

13.

Error (10170)- Verilog HDL syntax error at clock.v(34) near text
5 3447 CHIREAF S R, ERIIED T, RS R ==

Error (10170): Verilog HDL syntax error at clock.v(142) near text "always"; expecting "end"

142 17, XBEREHD— end,— € B R begin 5 end XN KR,
j(o

Error (10158): Verilog HDL Module Declaration error at clock.v(21): port "hour"

declared as port

A MR

is not

2147, R, RERWASE B G5 ] L BAE T E B 4, K24 hour,min,sec
PSS, BonEer, FrUUERI E S, ROZMCA output [7:0] hour,min,sec; A3,

LD_alert # RN ZME, FrLAB AHIH{E S, 5 LD_min,LD_hour & —FF 1,

Error (10161): Verilog HDL error at clock.v(35): object "sound" is not declared
WA E SCEHERAY, MOA reg [3:0]sound; BT,

Error (10161): Verilog HDL error at clock.v(79): object "loop1" is not declared
B E XA, HMUN reg [3:0] loopl; HIHA],

Error (10161): Verilog HDL error at clock.v(88): object "loop2" is not declared
B 8 XK, SO reg [3:0] loop2; HIFA],

Error (10161): Verilog HDL error at clock.v(107): object "loop3" is not declared
B E X, MU reg [3:0] loop3; HI A,

Error (10161): Verilog HDL error at clock.v(120): object "loop4" is not declared
B 8 XA, SMUN reg [3:0] loop4; HIHA],

Error (10219): Verilog HDL Continuous Assignment error at clock.v(124): object

left-hand side of assignment must have a net type

Error (10219): Verilog HDL Continuous Assignment error at clock.v(125): object

left-hand side of assignment must have a net type

Error (10219): Verilog HDL Continuous Assignment error at clock.v(126): object

left-hand side of assignment must have a net type

Error (10219): Verilog HDL Continuous Assignment error at clock.v(127): object

left-hand side of assignment must have a net type
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Error (10219): Verilog HDL Continuous Assignment error at clock.v(146): object "m_clk" on
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14.

left-hand side of assignment must have a net type
Error (10219): Verilog HDL Continuous Assignment error at clock.v(163): object "h_clk" on
left-hand side of assignment must have a net type

9~14 [MESRBEALE MR, RAICEHIE, WIRH assign L€ URAGEH reg
KA, BOY wire BIRIW], IXRE, ARG R PrA EHR B EE T .





